2016\d 28 EXEF A EAX A3 AFFXH] AP

Y BN EHYA| RIS ggsy zgzel | ojyers | B9
U g 10 (57 e 1) S 2ol | 105000 %:ﬁ%%é 7=
2 ol_llé)l-b%-& Exlil;%m 2()1;&41_ 1 ( %;ﬂgg;@ tlféﬁéx‘%%gf{é‘il 37,500 %%%%& 7l=
’ algb%x u-_iur&mr ea (%-f%g; 10) ;fé;%%%@ 135,000 %ﬁ%&ﬁ =
| omprgst| 1690 <%ﬁl%'-ig§7}o> 50“52:%%%%%0“ 84,800 %%%iﬁ 7=
° %ﬁyﬁﬁmr 201?031_ ° (%%ijio% 21) o 32?49%%%%E|N 105,000 %ﬁ%@é 7te
5 ooy | el AR SOTEL R SR 120,000 %%Eﬁ S
7 g@?@%}gmr 20112% 52115 (%;g;?; XTS} 12) Aéﬁg%%%g || 51,500 %%%EE 4=
5 | chprspgnt| 175 (%i;_%‘i sbed sl e | 36000 %ﬁ%ﬁﬁ =
| onprgn| 1645 <%—§3§§§9@) w;fﬁ%ﬁé;ﬁﬁ@ 20,000 %%%é; 7h=
10 ey 1210 <%—%§§4 s | olEbl el | 13000 %ﬁzﬁ 7k
12 %i__,ﬁ%m 2o | = ;ijz ) *BEE%%}%F%% 50,000 %1:2:%%3 S
13 alg?laﬁ&mr 2011; g;g (%Ti §_E%X)Ji ii%%%%ég 18,000 T | 7=
U gt | (e S | 8 bk s | 33000 Hagael ol




| omme [oeons | B sose el olo |t
8-29) 7| 2
SxiEs | 2016224 7k 4 o olAl0| 25}
16 = =2 50+XH|:’_|' E‘lEé!o I.PI:}E:] iyt ol
owplmmprt| 1280 | (1RSSR T esl | 0000 METREEL A=
7 ERER 2016226 g QNSO EAXIFIE] =i eldo=A
HDEERE | 2040 | (5 £Amv 20| TN SPBRIZER | 76,000 AeiEael | 7l
4
o SRR 2016220 wsady N G Rlgol=
o\ NNl : = SRIAF _7_'SII_|0.|| o= 50,000 XoER| | 7=
lEx_lXI-r |‘ 19:42 (“6:IL q%) zl_oli_lz!a 7._E|I§I 7Hi| l EP( | I-




